EARAZROREIERT — 2 N—XBISY —F 20195848 (+) 3EIE#ERSH

m"fﬁ%Sﬁ KEEF 4t [IBF] B ‘ [Xiz] % ‘ [eErsm]  — | &4 (&) 12000 FAE
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 12| 3y KN TIVE— it 3 éﬁﬁl 1:(1_2).9 12-12 [ 36.0| 86.5 | 9 466 Egg%% (E®)
RNZ—k21—-X B:dyk7o-5 #2) Fk BB
o S N RE : - EREE (ER)
olgligl vamFrvrha it 3 e 1.(123).2 10-9 36.5| 83.6 | 2 (i?g) EnE
R:d—IWKF7Yz—Ib B:oavFrro94> L7HhIT77—L4L
. = 4 IRFE . = FEEE— (ER)
3713/ A1 >avvIox R e SR R Rl f_‘g AT
x4 agbLvy BOr—2—L-=Th =ite)
N S A EEE : - MTRT (ER)
al1lolLrbTn—32y 4 3 2 1.(123).8 1-1 38.3| 78.3 | 12 4823 A(#;k) S
R:TF7>TYVRZX B:I—ZTIXAR=J B 245
72 4 3 | EHEES 1:14.0 7-7 37.7]76.1 | 1 436 | KARES (ER)
EHH h—t>73 54.0 (3/4) 4y | BllIBEE
R:AN7z—J B: 01054 - HBE77— L4
N - KOEH 14. - . . EREEE (EX)
N NMESZAAEE: it 3 i 171450 4-4 38.0( 76.2 | 7 (4_522) e
T RIAYTY IR BiHNEAA Y R g Ek
e e — ZEREAN . — ELEE (EXR)
7l5lg| 5795~ i 3 e 1(71?:; 8-7 37.7] 75.2 | 10 (424) %EK%_
LIZART—=NF— B:5TII0F— A B&—
. . . — NXg#& : - BORAIE (BR)
8 4| A1 vamn—NS 4 3 et 1.(154).9 2-2 39.2] 69.2 | 13 (4_620) A
R:xA4a3gR—-5— B:EYRETT7y b 77— L
N — 1BKI— :15. - . . EERE (ER)
9 6lL1F70—=2 it 3 e 1 (125) 2 10-9 38.5| 65.8 | 3 zzg? i
RNZ—ka1-X BiL1FHRE2—Z+ B
s 3 | EEEEEN 1:15.2 - R . 422 | EDRE (FF)
10 8 Iq>>hAaAa i 54.0 ! () 6% % 666 o (0) (g) FREE
L:xF1=T7— BRI —hIL AR FERS
; —\ = i 3 | BFER 1:15.3 14-12 [ 38.3| 64.8 | 14 | 438 |ZEMEX (H)
1815 I- V7 >F> 54.0 3/ oy | ez
L:IA2>T7Ty2a BN=TIRLTFTL "R RBR—
= 4 3 | EPR 1:15.3 4-5 39.4| 66.0 | 5 456 | RiERBK (ER)
EH & oA A 54.0 (NF) Ga |KESLF
L:Vvxaz4 B:T7IVRX SZvae]
N S~ BERX :15. - . . EEEA (EXR)
1315110 X4 3995+ 3 [B] % 3 ] 1(11/52)4 14-16 38.4| 64.0 | 16 (4;6) m£m§
L= RT7Ua— BixAoavsdh =AE BC
— s e IR :15. - . . BREBFIZ (W)
14 7| =k ERTXYT it 3 s (11 115/46) 16-14 | 38.3| 62.2 | 15 tg? aiad
L:Jr7—3IUT7> Bk ERFvIX KBS
N o . BEHED : = mEEE— (ER)
1 > ERUE st i 1(/1\3—? AR 3628) TRLT 1>
AN T =5 B:teLTUFq Godolphin
4 3 | BEHEI—ER 1:16.3 12-14 [ 39.5| 57.7 | 11 458 | REAME (RR)
1611|717V 54.0 (4) (cp) |Sv¥rL—v2Y
LG4 7 T—IVEY B:T7YS5T FrEF T — L
@ 71 L
) 49.2-37.4
NA>ZA L | 12.6-11.1-11.8-12.5-12.3-12.6
® I —F—@EBIERL
1T=7r=
2= =
30—4— 2(4,13) (5,14)8,11(3,9) (6,16) (1,12) (10,15)-7
43—F— | 2(4,13)14(5,8) (9,11) (3,6,16) (12,15)-(1,7)10
[ N3
H OB 12 2,250/ 714K 12-16 1,310 e E 6-8 630M 3EE | 12-13-16 10,330
8 B 12 510M 12-13 2,080 B = 12-16 4,720M 3EE | 12-16-13 84,830
16 1704 13-16 590 B H 12-16 11,200
13 250M

ABICOVWTRDTEEERROODE. TR LIV,



